SIMPLIFY ALGEBRAIC FRACTIONS

SECTION A – Simplify by factorising then cancelling

1.  4x + 8                               2.        2x                        3.  3a – 6b
         4                                         6x – 2x2                           12ab

4.  6a2 – 12a                         5.   x2 + 2xy                     6.  3y2 + 15y
      3ab – 6b                                xy + 2y2                          10y + 2y2
7.  5x2 + 25                           8.   x2 - 25                        9.      x + 2

      x2 + 5                                     x + 5                              x2 + 5x + 6

10.       4x - 4                        11.  x2 - 4x + 3                12.  9x2 - 1
       x2 + 2x - 3                              2x – 6                            9x + 3

13.  9x2 – 3x + 12                 14.     x2 - x - 6                15.  x2 + xy
       6x2 - 2x + 8                           x2 – 8x + 15                    x2 – y2
16.   3a2 + 3ab                              

        6ab + 6b2 

SECTION B – Use the rules for adding and subtracting fractions to simplify these algebraic fractions

REMEMBER: Multiply to make common denominators

1.   x  –  x                              2.  2a + a                         3.  4    -  1
      3     4                                    3      5                             5a     2a

4.   2  +   3                             5.  3x+y  + x – 3y            6.  a – 5b    -  2a + b
      n      2n                                   10         15                       5                 2

7.   3(2x+4)  -   2(3x-2)          8.    2    +     3                  9.    4      -     1       
          5                3                     x+1        x-1                      2a-1      a-2

10.   6  -     5                         11.     3    +     2              12.   3    -     4  
      n-3     n+2                                x-2       2-x                     x        x+3

SECTION C – Solve equations involving algebraic fractions

1.   3  +   2    = 1                    2.    2    +   3  = 5            3.   2      -    3       = 1  

      x      x+2                                n+2     n-1                      a+1       2a+3     2

4.   1  +   2    = 3                    5.    1    +   2    = 1          6.    3      +    4   = 3  

      y      y-1                                a+8      3a-1   2                n-5        n+2     

7.   3x  +   2    = x                  8.    3    -   1    = 4           9.   3a+2    - a-1 = 3  

       4        3                                x-1      2x                            2           5  

